
FFL 04

FRAME TYPE 3

152x152.UC37

152x152.UC37

15
2x

15
2.U

C3
7

152x152.UC37

254x146.UB43

FRAME.1
152x152.UC37 254x146.UB43

UNO

MASS CONCRETE
PADSTONE

MASS CONCRETE
PADSTONE

EXTG.
MASONRY

TOP MEMBER OF FRAME 3
CONNECTED TO TOP MEMBER
OF FRAME 1

FULL STRENGTH WELDED
PREPARED BUTT JOINT

FULL STRENGTH WELDED
PREPARED BUTT JOINT

GA
P

FRAME.1
254x254.UC73

150x75.DP TIMBER PLATE BOLTED
TO TOP OF UC USING M10 BOLTS
@ 500.CTRS STAGGERED.

150x75.DP TIMBER PLATE BOLTED
TO TOP OF UC USING M10 BOLTS
@ 500.CTRS STAGGERED.

FRAME TYPE 3
TIMBER DETAILS

CONTINUOUS TIMBER PACKS BOLTED
THROUGH WEB OF UB USING M10 BOLTS
@ 750.CTRS.

ANGLE BRACKETS, EACH
SIDE OF RAFTER, BY BAT
OR SIMILAR APPROVED.

NEW JOIST.

NEW RAFTER

NOTE.
TIMBER RAFTERS / ROOF JOISTS
TO BE 175x50 & 200x50 TIMBERS
@ 400.CTRS UNLESS NOTED
OTHERWISE.

175x50 TIMBER
RAFTERS @ 400.CTRS
NOTCHED OVER
TIMBER PLATE.

200x50 TIMBER ROOF
JOISTS @ 400.CTRS.

DENOTES LINE OF
NON-STRUCTURAL TIMBER.

NEW RAFTER

NON-STRUCTURAL TIMBER FIXED TO
TOP OF RAFTERS USING TIMCO
VELOCITY TX COUNTERSUNK MULTI-USE
SCREW 8mm SCREW DIAMETER x 225mm
LONG @ 600.CTRS.

NON-STRUCTURAL
TIMBER FIXING DETAIL

254x146.UB43

GUTTER SUPPORTED ON
TIMBER FRAME BUILT OFF
FLOOR JOISTS.

150x50 TIMBER PLATE BOLTED TO
WALL USING M10 RESIN ANCHORS
@ 500.CTRS .

254x146.UB43

DETAIL X
ALTERNATIVE FRAME END BEARING
DETAIL, FRAMES 3 & 4, WHERE NEW STEEL
LINTEL REQUIRED OVER WINDOWS UNDER.

IF EXISTING BRICK ARCH IS DAMAGED,
DURING INSTALLATION OF NEW STEEL
LINTEL, REPLACE USING HARVEY TYPE
LA 215 GAUGED STEEL LINTEL WITH
BRICK ARCH TO MATCH EXISTING.

NEW LINTEL
203x203.UC46

EXTG. BRICK
PARAPET

NOTE. CONNECTION DETAIL MAY
VARY DUE TO LEVEL OF NEW
STEEL LINTEL. FINAL DETAIL TO
BE CONFIRMED PRIOR TO
STEELWORK FABRICATION.

PADSTONE
BEYOND

NOTE.
REFER TO DETAIL X
WHERE NEW STEEL
LINTEL REQUIRED

152x152.UC37

NEW RAFTER

ANGLE BRACKETS, EACH SIDE
OF RAFTER, BY BAT OR
SIMILAR APPROVED.

CONTINUOUS TIMBER PACKS BOLTED
THROUGH WEB OF UB USING M10 BOLTS
@ 750.CTRS.

DENOTES LINE OF
NON-STRUCTURAL TIMBER.

FRAME TYPE 4
TIMBER DETAILS

175x50 TIMBER RAFTERS
@ 400.CTRS NOTCHED
OVER TIMBER PLATE.

1 : 20

1 : 20

1 : 20

1 : 201 : 20

FRAME TYPE 4

152x152.UC37
152x152.UC37

WELDED CONNECTOR PLATE
FOR INCOMING HIP STEELS

152x152.UC37 152x152.UC37

15
2x

15
2.U

C3
7

MASS CONCRETE
PADSTONE

MASS CONCRETE
PADSTONE

254x146.UB43

254x146.UB43 RIDGE
STEEL BEYOND. UNLESS
NOTED OTHERWISE.

FULL STRENGTH WELDED
PREPARED BUTT JOINT

FFL 04

GUTTER SUPPORTED ON
TIMBER FRAME BUILT OFF
FLOOR JOISTS.

150x50 TIMBER PLATE BOLTED TO
WALL USING M10 RESIN ANCHORS
@ 500.CTRS .

AS OTHER END

NOTE.
REFER TO DETAIL X
WHERE NEW STEEL
LINTEL REQUIRED

NOTE.
REFER TO DETAIL X
WHERE NEW STEEL
LINTEL REQUIRED

15
2x

15
2.U

C3
7

254x146.UB43

FULL STRENGTH WELDED
PREPARED BUTT JOINT

FULL STRENGTH WELDED
PREPARED BUTT JOINTS

1 : 20 HIP MEMBER DETAIL

203x133.UB30 [HIP MEMBER]

WELDED CONNECTOR PLATE
FOR INCOMING HIP STEELS

152x152.UC37

MASS CONCRETE
PADSTONE

FULL STRENGTH WELDED
PREPARED BUTT JOINT

203x133.UB30

FFL 04

GUTTER SUPPORTED ON
TIMBER FRAME BUILT OFF
FLOOR JOISTS.

150x50 TIMBER PLATE BOLTED TO
WALL USING M10 RESIN ANCHORS
@ 500.CTRS .

NOTE.
REFER TO DETAIL X
WHERE NEW STEEL
LINTEL REQUIRED

20
3x

13
3.U

B3
0 [

HI
P 

ME
MB

ER
]

1 : 20

P
r
o

j
e

c
t
 
M

a
n

a
g

e
m

e
n

t
 
I
n

i
t
i
a

l
s
:

D
e

s
i
g

n
e

r
:

C
h

e
c
k
e

d
:

A
p

p
r
o

v
e

d
:

L
a

s
t
 
s
a

v
e

d
 
b

y
:
 
M

I
K

E
.
N

E
W

T
O

N
(
2

0
1

9
-
0

8
-
0

9
)
 
 
 
 
 
L

a
s
t
 
P

l
o

t
t
e

d
:
 
2

0
1

9
-
0

8
-
0

9

SHEET TITLE

SHEET NUMBER

F
i
l
e

n
a

m
e

:
 
U

:
\
2

0
1

6
\
M

I
D

D
L

E
S

E
X

 
H

O
S

P
I
T

A
L

 
A

N
N

E
X

E
\
A

E
C

O
M

 
I
S

S
U

E
 
R

E
C

O
R

D
S

\
D

A
T

E
 
I
S

S
U

E
D

\
1

9
0

8
0

9
_

 
N

O
R

T
H

 
H

O
U

S
E

,
 
S

O
U

T
H

 
H

O
U

S
E

 
&

 
W

O
R

K
H

O
U

S
E

 
C

O
N

S
T

R
U

C
T

I
O

N
 
I
S

S
U

E
\
W

O
R

K
H

O
U

S
E

\
M

H
A

-
A

C
M

-
W

H
-
X

X
-
D

E
-
S

-
0

0
0

0
2

.
D

W
G

Printed on ___% Post-Consumer

Recycled Content Paper

I
S

O
 
A

1
 
5

9
4

m
m

 
x
 
8

4
1

m
m

KEY PLAN

CONSULTANT

AECOM

Aldgate Tower

2 Leman Street

London, E1 8FA

www.aecom.com

CLIENT

PROJECT

PROJECT NUMBER

GENERAL NOTES

BEDFORD PASSAGE

DEVELOPMENT

MIDDLESEX ANNEXE LLP

60516144

FRAME DETAILS

SHEET 2

WORK HOUSE

MHA-ACM-WH-XX-DE-S-00002

_
_

_
_

_
_

_
_

_
_

_
_

_
_

_

1. FOR GENERAL NOTES REFER TO DRAWING No.
MHA-ACM-XX-XX-GN-S-00001

NOTE.
FOR SETTING OUT OF STEELWORK
REFER TO ARCHITECTS DETAILS

I/R DATE DESCRIPTION

ISSUE/REVISION

C1 09.08.2019 CONSTRUCTION ISSUE


